Part Description Description
GR-01 Wire Grommet L-ME-A6 6 Button Overlay
L-FP-00 Blank Faceplate L-ME-A8 8 Button Overlay
L-FP-01 Empty Faceplate L-TR-01 Single Trigger
L-FP-A2 2 Button Faceplate Assy. L-TR-02 Double Trigger
L-FP-A4 4 Button Faceplate Assy. LS-00 Leaf Spring
L-FP-A6 6 Button Faceplate Assy. LS-01 Leaf Spring Kit c/w Screws
L-FP-A8 8 Button Faceplate Assy. PN-03 Mounting Pin
L-HL-01 Handle Case Left SC-02 Button Capscrew #10-32 x 3/8"
L-HL-02 Handle Case Right SC-03 Tapping Screw #2 x 7/16"
L-ME-A2 2 Button Overlay SC-04 Button Capscrew #10-32 x 1/4"
L-ME-A4 4 Button Overlay SW-00 Switch L Series 5AMP
BU-00 Bushing - Drilled 1/4 BU-00SS Bushing - Drilled ¥ with set screw
BU-01 Bushing - M10 x 1.5 BU-02 Bushing - M12 x 1.25
BU-03 Bushing - M12 x 1.75 BU-04 Bushing - M14 x 2.0
BU-05 Bushing - 5/8 — 11 BU-06 Bushing - M14 x 1.5
BU-07 Bushing - 3/8 — 16 BU-08 Bushing - 1/2 - 13
ST-01 Stud - M12 x 1.75 x 40 NT-01 Jam Nut - M12 x 1.75
ST-02 Stud - M14 x 2.0 x 40 NT-02 Jam Nut - M14 x 2.0
ST-03 Stud - M10 x 1.5 x 40 NT-03 Nut - 2-56
ST-05 Bent Stud - M12 x 1.75 x 40 NT-05 Jam Nut - M12 x 1.25
WR-15 FILS 15 BRINS 22 GA WR-15-18GA FIL 15 BRINS 18 GA
WR-7 FILS 7 BRINS 20 GA WR-7-18GA FILS 7 BRINS 18 GA
WR-9 FIL 9 BRINS 20GA WR-9-18GA FIL 9 BRINS 18 GA
WR-12-20GA FILS 12 BRINS 20GA WR-12 12 BRINS 18 GA
WR-2 FILS 2 BRINS 20GA WR-2-18GA FILS 2 BRINS 18GA
WR-20 FILS 20 BRINS 22GA WR-3-18GA FILS 3 BRINS 18GA
WR-19-20GA FILS 19 BRINS 20GA WR-19-18GA FILS 19 BRINS 18GA

- ST-05

=

¥-sC-11




